sShREE

FULL: SEMIAUTO

CM. 125

AR E|

|

EIRIEZA KR iEIX RS
Always read through this manual before operation.

of age Ak Qperation of this air gun for competition use is restricted to users of 18years of age or older.

x 1BFULERFEER | 165 Ll LE@ M RIZ NN LEER
Onlyfor 18

AEFHE E BB WRABIO-40KER FALOHERTRIHAREAGHRACHE
Injury caution | Since plastic BB bullets reach 3010 40 meters, careless shooting may cause eye damage or other injuries.

EREREERETEN | 2Rt znESa0RREEFRNETERRESRE G ANREEERET
rmlaal

. Always read through this HANDLING CAUTION AND INSTRUCTION MAMUAL carefully before operation.
ruction manual | OPerate the air gun with full recognition of warnings and cautions.

FOR AGES:18 AND UP




Hit5XHI ACCUMULATOR AND CHARGER

& N il ™
ﬁ@&\j} )
E‘\:Eﬂl)@\ ﬁ/// /
~ \\ \I
xed  \ g BREEATRE
Charger = Insert the battery into the jack.
L P, . ]
1 E8E|IE NAME OF EACH PARTS
FRONT SIGHT RE?}gslgGHT

A R

WA
SEMI-AUTO SWITCH MAGAZINE MOUTH BUTTON

RELERYT
t':'lt EIY

MAGAZINE BUTTON
HEMG

SPRING
REBOUND
BUTTON

3 9% o) {40

TRIGGER
=

HEHMUZZLE MAGAZINE

na

) e==E F¥# & CLEANING ROD

2 {RIS§l SAFETY

. KEEP THE SAFETY AT “SAFE POSITION” WHEN THE
GUN IS UNUSED.

5 B
ZEMNE
SAFE POSITION SHOT POSITION

@ USE THE FIRSTFINGER TO
PULLTHE TRIGGER

PR iE R Eh i

NEVER PUT THE FINGER ON THE
TRIGGER BEFORE SHOOTING

HEM 28 FRBRERN L




3 Sl INSTALL THE BATTERY

© Press the gun body release button to unload down the puller.
AFREETHEDTRTF. _aDe

GUNBODY RELEASE BUTTON

PULLER

@ Load the full-charged battery
in to its position.
BRIFBABREE E.

#2 5t &%) IE i 48 A\ 75 1)

/ Exactitude insert direction of the battery

D,

PO.

® Fix onthe puller reversely to ste
BHFZOQEEIRIERENF

4 BR\IEXE SINGLE \RUNNING SHOOT

=
——

" = Never put finger on the trigger
) %i\ﬁ?ﬂ’ ke when adjust the button
Running/single shot control button R B S AR A

Single shoot position{ ® » Single shoot: the button point upward,
i one bullet shoot out one time.
B BEAE0BREAUE HSENESXRE—%

BRUE

a running shoot: the button point downward,
more bullets shoot out one time.

ERBEHERELAME SENEREAHZ R

EEUE

2



5 RE\IFHME INSTALL\DISASSEMBLE THE MAGAZINE

d PUSH THE MAGAZINE INTO THE )
GUN TILL A CLICK SOUND HEARD.

BRECENMEGEEWEEE—E.

(o PRESS THE MAGAZINE
RELEASE BUTTONTO
RELEASE THE MAGAZINE.

RERCIREMBRDEE.

@ LOAD 6MM BB BULLETS
INTO THE MAGAZINE.

F= A\6MM BB

REiREE
MAGAZINE
REIEASE BUTTON

® Adjust the parabola direction
with HOP-UP.
BT AT HOP UPIE T 4
EHRMEnSE

THE PARABOLA
REGULATE BUTTON

o4 £ 98 15 4

@® The best position is where the bullets fly horizontally, and the longestrange
is obtained.

PR F57K 75 18 19 5 < BE 95 (EB B3R 3K 13 L 51 72

A‘%.Eﬁ ( HOP UP )

® Our company will not be responsible for P
trouble caused by using the bullet produced & =l

by other company. Béﬁ&ﬁ—]

RO ERRE L EBBE~R

5142 s F 8 fa &

® The bunglesome bb bulletis damage
with the gun. Please use the precision

RUBBER #% %

BB A O

bb bullet of our THE ENTRANCE =
company. Precision | [ Clumsy OF BBBULLET =

#h% MBBH & Xt 4t | BB bullet | | BB bullet RAS T

XEMmEIRE

ﬁfﬁﬁﬁt’n"ﬁjﬂ‘] %H[.

1R EBB3 R 51 = . 9 MOTOR J




@ Setsemi-auto switch in semi or auto position.
BREARRYHERRNERNE.
- e SINGLE SHOT RINNING SHOT

p
® PULLTHE TRIGGER TO SHOT.
05 15 L5 &

T

1 {5IS:PHZ=BBi¥ REMOVE CLOGGED BULLETS

1 ;54 ¥ CLEAN THE BORE
>
) CLEANING ROD;& 3 28

(L) R
» w% ®

COTTON ¥
8

”:’ ROLL THE COTTON ON BRERRD
2 4 THE TOP OF THE STICK DAB THE MUZZLE
TIOMM -~ J 24925-30MM ~ 34875 % 75 48 F — i WITH THE COTTON STICK J

2 :5P2PH BB REMOVE CLOGGED BULLETS

g N
@ Unload the magazine, insert rod into @ REMOVE THE CLOGGED BULLETS.

the barrel as picture showing. =
BU#E BRREME R RBOEA L[ A EABER.

~\

AN J

3 BHLBRHA ELECTRICAL ENGINEERING OF TINY ADJUST
(ONLY WHEN THE MOTOR NOISE BECOMES HIGH

AFTER OPERATIONS FORALONG PERIOD OF TIME, .

CONDUCT THE FINEADJUSTMENT AS SHOWN. _‘\ COVER &F

2 1 F B 185 46, FE R & AR K HO MR Y, : i HEXAGON

1 4 40 B B = 39 A L i 47 0. RING SPANNER
- HARETF




® THE COMPOSITION OF CM.125

Gun body
Decorating parts

F &
5 FE 3% i
F e B £ 7|, B £ Hole accessories for flashlight

1

2

3

4 WEMME Magazine button
5 3 [F40/% & Magazine button spring
6 @3x165% 8 @3x16 spring pin
7 R#E Gear box
8 FiME=  Handgrip based cover
9 2x6KMHO 2x6 KMHO
10 @2x27# 7 &4 @2x27 shaft
11 @3x271E%h @3x27 shaft
12 EEE Loading sets
13 EE0RIF O type ring

13A S£T08) B Guide nail O-rings
14 [ % S ¢7 Chamber spring guide nail

15 L B¥E Loading spring
16 B85 HE Loading rear base
17 &4 Gun body release button

18 8% % $% ¥ Semi/auto selected plate
19 HEHE Spring
20 5% % [E = FE Single-running fixed base
21 M3x3¢h B M3x3 screw
22 BIEE EA Positioning grain
23 BELZFEME  Positioning spring
24 @2. 6x8PBHO @2.6x8 PBHO
25 iR EE Trigger left base
26 HIRHLE Trigger right base

27 M Trigger
28 M H® Triggertorsional spring
29 # ¥ %h R FE Trigger shaft copper bush
30 EthEE Battery base
31 With A % Battery base left cover
32 Mt EE A & Battery base right cover
33 b FE £3 4% $R K Cathode sheet copper
34 8 jth K IF 4} 48 & Anode sheet copper

35 @2x5KBHO @2x5KBHO
36 M2x8KMHO M2x8 KMHO
37 @2x268 1E ¢k 3 @2x26 shaft
38 @2x4TBHO @2x4 TBHO
38A 3R Hop-up
39 B REHH Hop-up adjust
40 @1. 5x87E 4 @1.5%8 shaft
41 HOPIA 5§ Hop-up adjust button
42 @2x4PWAHO D=6 @2x4 PWAHO D=6
43 i B Hop-up rubber
44 ST RREE Hop-up brass
45 1 2 ing Hop-up button
46 @2x6PAHO @2x6 PAHO
47 Bt E 4 E  Unload battery base

48 B th ) @E4A §§ Unload battery base spring
49 Bt E) 1 Battery release
50 @2x12. SEIEHM ©2x12.5shaft
51 oM Quter barrel
52 Hi Driving lever

53 BSR Clutch piece
54 BER® Spring
55 @2x57E 4 @2x5 shaft
56 I RE Hop-up cover
57 RIEES Safety spring
58 $% 0% Single shot spring
59 M2x12KMHO M2x12 KMHO
60 M2x5KMHO M2x5 KMHO
61 KRy Left rail
62 &8 Right rail
63 @3x10PTHO @3x10 PTHO
64 EMSE Left grip cover
65 ALK Right grip cover
66 fiF Puller
67 R FINEE Puller button base
68 RIFMH Puller button
69 FHE Puller spring
70 @2x213E 4 @2x21 shaft
71 M2x5KMHO M2x5 KMHO
72 WEEK Magazine main body
73 3k Lifting warhead
14 RIE#® Spring
75 EWF4 Left block
76 3 [ M§ £ 3§ Magazine mouth spring
77 AW EH Right block
78 BMEE Magazine cover
79 M2x6KMHO M2x6 KMHO




